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BT 4 HH 5 £ it
B] i3 3m] ;28 AT 299 346 393 739
EARI1TH 1,040 1,149 1,262 2,411
EARI2TH 1,199 1,009 1,367 2,376
A R ET 2,341 2,330 2,609 4,939
BERT1TH 598 578 625 1,203
B ERT2TH 406 405 447 852
B ERI3TH 311 362 323 685
BEBRT4TH 543 488 521 1,009
B ERSTH 825 887 891 1,778
I ER6TH 376 391 416 807
HiF = HT 543 584 625 1,209
45 KHT 512 578 605 1,183
HHT 998 1,076 1,206 2,282
BEHT 50 52 58 110
A K BT 621 701 726 1,427
7 HT 431 434 455 889
RICET 455 478 523 1,001
FORHET 197 187 219 406
RFHT 207 202 236 438
KHET 358 327 370 697
KET1TH 234 235 282 517
XKET3TH 295 341 329 670
XETATH 866 800 986 1,786
fit] LLI BT 2,438 2,751 2,895 5,646
JE LT 996 1,103 1,204 2,307
EHERT2TH 313 451 444 895
EHERISTH 431 533 532 1,065
EHERT4TH 395 464 492 956
EHERSTH 346 399 462 861
EHERT6TH 217 286 281 567
EHERT7TH 171 256 263 519
=Y:i 340 338 374 712
8 [F T 1,617 1,451 1,674 3,125
=i ET 513 545 626 1,171
2l 3t BT 484 578 561 1,139
N =15 102 113 121 234
+HEFRT A 639 636 703 1,339
L EFHTER 850 758 852 1,610
L HAET 1,989 2,157 2,245 4,402
LFH¥ABT1TH 73 122 114 236
LE¥ET2T B 155 155 177 332




BT 4 HH 5 £ i
LFEI3TH 153 151 172 323
LF#ET4TH 164 177 201 378
LFEISTH 214 267 301 568
I == HT 204 208 230 438
M=rET1TH 559 539 538 1,077
Mn=rET2TH 556 527 573 1,100
JO=fET3TH 417 428 407 835
M=rET4T H 1,083 1,081 1,106 2,187
I S5k T 584 589 655 1,244
I=F5di) 227 212 251 463
Jt B BT 30 36 37 73
E[d:) 399 355 345 700
478 = HT 821 930 978 1,908
FHRHET 83 79 95 174
1 2 FF T 348 392 421 813
BEFE1TH 93 115 125 240
BEFE2TH 273 305 322 627
T EHT 131 139 142 281
/N BB T 3,104 3,079 3,293 6,372
1R HT 257 278 297 575
YEZF HT 757 747 784 1,531
EXBI1TH 266 252 264 516
=/ LLIHT 217 159 126 285
Hh ek HT 23 23 4 27
T A EHET 11 16 12 28
THHEE1TH 724 645 687 1,332
THHEE2TH 532 551 546 1,097
THHEESTH 861 886 1,015 1,901
TEHE1TH 182 179 172 351
TEHRI2TH 809 749 861 1,610
TEHRISTH 167 178 187 365
TEHRI4ATH 99 111 121 232
TEHRISTH 214 232 238 470
T HAET 574 607 635 1,242
TET1TH 355 350 358 708
THET2 T H 464 431 490 921
TH¥BISTH 201 195 225 420
THABTATH 152 143 175 318
TH¥BISTH 159 172 198 370
HTAEHET 17 16 8 24
T 182 196 180 376
#8)11 BT 46 47 54 101
KT HT 296 308 339 647
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BT 4 HH 5 £ i

7B KHT 1,654 1,638 1,793 3,431
FSIED 266 319 308 627
XLAT1TH 841 737 902 1,639
X#ILET2TH 315 345 366 711
X#ILET3TH 154 152 168 320
1 [ BT 44 64 71 135
hHET1TH 388 424 406 830
hHET2TH 463 472 513 985
hHBEI3TH 450 509 502 1,011
aiEld:) 249 225 274 499
th 2 JEHT 221 206 229 435
ch T 134 126 161 287
TR AHT 773 864 867 1,731
At FAET 880 869 1,006 1,875
75 K ERET 767 943 984 1,927
75 2 [N HET 1,671 1,807 1,951 3,758
JAHT 897 856 951 1,807
$FHET1TH 528 468 506 974
$FHET2T H 395 384 430 814
¥FHETST B 200 208 228 436
T 166 210 216 426
HET1 T B 387 477 507 984
HET2 T B 346 359 405 764
HET3 T B 358 393 442 835
HET4 T B 124 119 152 271
AN ) 986 1,049 1,104 2,153
J\ EHHT 157 192 188 380
T 4 BT 250 277 312 589
T A HT 1,614 1,586 1,797 3,383
THB1TH 22 20 19 39
T4HB2TH 1,460 1,349 1,350 2,699
T4HBI3TH 186 169 159 328
T4RBI4TH 375 311 373 684
T4RB5TH 932 638 923 1,561
THHBI6TH 615 585 635 1,220
THRI7TH 358 371 418 789
T4HBISTH 376 392 413 805
THBIOTH 405 450 506 956
THB12TH 237 259 260 519
T4WB13TH 315 350 387 737
AR NBHT 1,954 1,677 1,952 3,629
HARRHET 1,367 1,238 1,171 2,409
H AR KR ET 296 371 381 752
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HEZ HH 5 = 5
E AR ERT 166 173 180 353
- WNEL] 138 118 143 261
FH AR hHT 202 225 263 488
FHARAKHET 440 462 496 958
& AR ElT 318 331 371 702
EHARE)IIHET 282 262 295 557
=N ] 115 120 136 256
FH AR JTHT 101 95 109 204
EARERHE 667 563 655 1,218
B K R HET 389 394 401 795
Edsa] 882 880 1,011 1,891
BIERT1TH 757 731 737 1,468
BEFET2TH 598 602 684 1,286
RIS TH 344 404 409 813
AIFTET1TH 428 382 424 806
AIFFRT2T B 594 603 669 1,272
AIFTET3T B 645 725 782 1,507
A HT 182 194 189 383
B LH 249 320 334 654
NEL] 795 752 822 1574
ERL 775 943 937 1,880
= HHT 1,736 1,909 1,982 3,891
HETHRET1TH 573 611 658 1,269
HELTIRET2TH 521 593 652 1,245
HLIREISTH 298 375 369 744
P fx T 318 357 389 746
mERI1TH 1,169 1,119 1,267 2,386
mERI2TH 835 951 1,041 1,992
FA T 1,367 1,377 1,545 2,922
= RITET 530 491 539 1,030
= AHT 359 283 335 618
AR#4HT 7 5 4 9
L& AR ET 498 556 507 1,063
SHET1TH 715 625 773 1,398
S HET2TH 410 444 468 912
aHEI3TH 850 718 880 1,598
S HET4TH 750 611 822 1,433
E& T 1 1 0 1
J\BRET1TH 214 251 265 516
J\BRET2T B 228 230 242 472
J\BRET3T H 241 299 305 604
1T HT 300 422 410 832
FHRIBRT1 T H 168 198 207 405
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HEZ HH 5 £ 5
FIEIET2 T B 300 428 459 887
FIEIET3 T B 109 180 171 351
EOER1TH 90 144 141 285
FEOER2TH 0 0 0 0
FENDERITH 21 19 2 21

wEE 89,033 | 91,050 98828 | 189,878
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